FERESRARIE 1 R i

[=E5RC 1 AR St i R AR AR 2 T ]

[ 2-1 APRHERE (1) EAPEHEE O &4 E

(1l ) (8 5)
5H : B &
6H : 1] =
1A : B =
18 H : B K
22 A : B &
30 A : 1] =
30 H : B =
M Bk
4/1 mi A Mo ( )| o411 A B A ( )
5 H #H 4 ( )| 22 WEMEE ( )
6 5 #H & ( )| 30 WEMEE ( )
18 ®H #H & ( )| 30 M EBLAE R ( )
30 &k H o ( )
( ) ( )
5/1 i A # @ ( )




FERESRARIE 1 R i

[ 2-2 PPRHEREE (2)  MEHHBEBEOG R

W1 @ M © M ( )
® =

Wz @ M © M ( )
® =

W3 @ M © M ( )
® =

W 2-3 MEHERE (3)  WARMORE

[ 1 H
[ 2 H
[ 3 H

W 2-4 MEHERGE (4 PPEHEIE O B

Ftﬁ 1 P:J/kg

[ 2 H

1 3 M ( )




